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Computational 
formula for 
sample variance 
with ungrouped 
data – Take the 
Square Root 
for Standard 
Deviation
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The probability 
of success—
the binomial 
coefficient
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Pooled variance 
difference between 
means t test
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Dependent 
or Matched-
samples 
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means t test:
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Other formulas 
necessary for  
Analysis of  
Variance and  
Related Statistics:
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Computational 
formula for 
Pearson’s 
correlation 
coefficient:
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Ordinary 
least-squares 
regression 
line for the 
population:

y x= +α β

Computational 
formula for 
the slope 
coefficient:
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Multivariate 
ordinary least-
squares (OLS) 
regression 
equation:

y a b x b x b xk k= + + + +1 1 2 2  ε Partial correlation 
coefficients: r
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